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4. 5140| Moo= ojg{Zt AR ES o AREOIRILIR?

5. 52 o|g CHE oI LEINE S2IE £ U Ml 7HX| LEHe U] Foie. k3 & ol ¢#t
gHo| ofd Heg IEAML.

@ Z=ist 2CHE pHEo] T E Y= 7ICh
@ = Arro| Huleh A2t el A 2IME st HE S 8t

Aol g2 Hilet FF oA AIREHCH
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A
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Section II - Usage

Directions: This section consists of a number of statements, with an underlined contraction.
Select the answer choice that best represents the original form of the contraction and fill in
the corresponding oval on the answer sheet.

29. A g Wy U #L AL 2 FA AR oA welek Ut
28z 2 A =8¢ FFsA F& ANE ARG UL
FAS sl xducks 28e sdse A A4 He 23019
AsE ojFA e 471 Yo AL ARG AFH2E e
E sk vhgd 2 W
a) AP HE - 7HAA b) Asieichd e — ZHAA

o) ARYPEE - A A d) AAsgeE - 7Hx A 0]

30, Wla AFL 4 Y, 55 FY AHe HEE Eodo 2HA J|RES
segiol 43¢ B ARQEe] ¥4 Fold Aol aFeldh AT °l&
Zol AAE el AerE A s HJHE 2 BFE FTUT
AEH RUEHE A4 AdEez g8 ¥o] H=dn olFE e AF
Z o] A7 olEe] @2 Zolt
a) ol — a3l b) ol ~ sk
¢) Foll=g - g3y d) Fo=& - 23]

31. B¢ wAZ YA 30 29 g9, 1 Eold HaAst AA7]d, 30 o)
QA 3o AAMAQ FFL vk E Fo] 12%% FHFIHE AT
2ze 279 5%t 3EsE E¢E, 12%c]80h SE7HA de
sh% wpAol s B2 %S EF 8~10 F, A FollA siEs: €9
ofo] of 1.5L Q] A< Zek, &% Ha 250 o4ke] &€ AFseF et
a) ¥-Eae A3 olok b) ¥-F3lviE - AFsHe ok
¢) $x5epe s - AFsteiof d) ¥-23u= - A Fo|3lojok

32, 39 3= B3] vlgwE Ut FAEd dEe] e MUslA
237 2 e HEEA B3UA foME & HL, ¥4 R F
7877 Be 24 £ oM A=A 2 2244 ol+7t A7
a) oju ¢ AUA - FAL7} b) ol g A1A| - FL7}

c) 4 4AA - F247t d) ©jal 4e1A - FAL7}
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3. olAE 2dE Agel F22En sy Zal 29 2 chin =Y
£9Eeld B 1d Bn e AFE BF AFH 2o A=
usizelch 2dd §F 2% 298 4 2 ARES UE UdE 299
B4EL Azt o¥d SAE NS Ae AFE 234 A%
Aol
2 Uilel - 29 b) vhrle] - 28}

& el - 2 d) vhro] 2ol

Directions: Questions 6 through 8 are statements with underlined expressions, each of
which has four corresponding replacements. Select the answer choice that represents the
best alternative expression that retains the original meaning of the statement.

M. F FTHREL FEe g 887 et

a) A - FH3H b) A - gkEs}A
¢) A - w3 d) A - Y4si)
35. 2L A9 JFelE o FE 292} =2 9A gl
a) A4l - < b) AR - §
¢) 7MY - 4% d) opdd] - B
36. nz2=sjo] wsiy del sie AEe U7t AR 7= Xeld
a) A7 - 75 b) A3 - &3]
c) 3 - T4 d AEH - 22

37. “to follow”$} 22 o2 23] £342?
a) 2 109 el 2 G gk
p)AEE AdujEe] AME 9HA wole}
odigie] g AAS Bt
dydolol, oA welv golel

38. “to wind” 2} Z& T2 29 427
a) Ade AV £ 1 e A% vpErA el
DAS & e Andes Aol s Aol F4.
ozl WY 2= o] F4 4tk
I EHE 43 E & o £ 2= ¥Rl
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39, “way” & 22 T22 29 A2
a) W7} A 2 Ztell i
b)Zol et AE 7HAE vt
c)elAe] gAo] 7jofg Zojrt.

d) eh¥ A& ofA 9 & vt

40. “disorder” 9t 22 Fog 2q] FF2?
a) o] Alghe A4l ol FA7t At
b)6 Al o]Ate] oj*elEe AR E WA Tt
¢) ¥la7] HZoA olas 47t EREY
d) $2lx $el9] olae Adsty] siste A4 FHU

41. “to inject”s} ZL Ko 2] F42?
a) AL °i7F AAE 3 gy AAolr.
b) 2vE Rt A71A 70 FHkE UG
o) otolellA FAHE Foen 84 ofel: v €7 AFATt
d) L #9387 spue] 22 ¥ A7} 209d°] Hl

42, “oplay”s} & £o8 23] F42?
a) $-2 SopuAE Yrhe Holw viFe] A€ HF dot AFAAS
Ade] gkAE Fdo] ik
b) 2= Az AFY ALz £2 A Sl
¢) W7t 7iulel e sHAAE ofd 25d°] At
d) W4 A £ ok 4717 2 v "o

43. “to consume”¥} 2L Fog 29l FHL?
a) U4 ARLE AL § 55 sk A 2= 7] 4
b) ¥ QA F4 A AEAH?
o) AFAel FANA e BHE AR vkl it
d) o] &7} ¥ Anc} 71§E 94 ¢ wol HEd
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Directions: This section consists of a number of statements, with an underlined contraction.
Select the answer choice that best represents the original form of the contraction and fill in
the corresponding oval on the answer sheet.

44,

45.

46.

47.

gl Al el e F vkE v “Al@o] B2 Al W}
ozl el e BHe F5E duisie o] ohzt Mg & 39
5% guigct. 24 F2 AFRL WS Aol shedl, HE Ao
gol 7} ¥=2d: oule gAgk ¢ #HAsiz & Hdldes AEst o
738k JEs el g Aol

a) "9 - A A= b) k&2 - A A|vke

c) vgke] —o] gl A vl d) wlelske] - glA|wh

olgl-¢ APAME F& F71E Foldn, A7) €F del= FE H=
& 718 Folich

a) Folsigln b) Folsl4l

c) FolsjAiL d) Folsialoln

A7l 271§ olvz Bol F7iut s ojgA & Z3NA] AAe] wH4L
olc}, AHEof oA ZAdA] ¢S] kA gt s UekE JFES
gj5=7] wigicl

a) ojwdAe] - ATFES

b) olwslAe] - AFIIERS

¢) ojw A - AFIESE

d) ojwsA - TS

& #8471 3 49 47 B ATHE2E A RE AL £ 4 U=

sbsAAE EHEHEY. & YHAA o] AAE Rn st Adda
diitk +9 948 F A4S A A A X AdE 44
23 ged #A%A7 4Pl 2 EnelE Add <ol Hyz
WubgAe] E&ol A7 g ek <Al A wiej) e

a) st} - FH447t

b) 3 gt - FdYzt

¢) ‘&3t - FAY7t

d) @33 - FA9Y7t
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48, T PR 2UL GjEYol what AelM AARE sHrIH FolelL
2olch. av) 7 HEFL 9 8o HE Aoz RS A
oichn wigtaicke gheh. cha 33 Aelgivke Aol k=x A oAt
oME 1 W T FUH PEFS AMRE FRge] Bl k.

a) dRsislcke - oA RE b) st - X R=ELS
) Higsi ek - AR SHAE d) st - HHRE

9. ARe Az AsA gechARe v go] A8 §4 Fech AP A
9 wub ope} U 247 ok AR proldA HEE & 5 T ¥
3] & V. oPH APE sof oA FAE AAFEA A
Aol Astsiol ek sivkshd FAIAQ Age Aepde] BEol FHIHL
giglon AAR Ashn UL Aol ALA 7] dEel+t
a) Ags|shoiof — 2 okl
b) A8t stojof — sl
¢) Agts|oloiof ~ shufslui:

d) A&stoiof - 2 ofjuis}ei =

50. FRole 28 YA H¥E Fn 71V e dolAe el F
v]ebl E 7} 9ok & Agolulxedt 10 47HAE RS ¥ ok 719¥E
F7 81 ofdde] Be] ol 53] ofolofAl Fotk $5F ugakEo] & i
o BEwe A=PXE Pov uiAde FFYL Axct T3] FFL v
2 s Aol A Hid, vl 208 ¥ FHLHE FAE FTA ¥
#5223 APate] 24 F7] dEeldt

a) 2L - UFF b) 23RS - Y530
o) ZFRUE - A3 d ZE8RE - ¥o

51. AEE aapAe] g2ed ST e w7l v A27) 39 $Aje] m} A
2 o2/ 225 ok Aok a3y A2 AAEL § Axst H¥9H 2
A7} ks AME A g 20 A7) Roll U o] ]E2 1947 B #
FAHE A AT 2.

a) 2 §td] - EAGH
b) 2ejdd — FAsHSG
¢) 1&g - wAAsG
d) e - HALAHAG




5.

53.

54.

55.

Aeke] & SAE sAE zolE 28 X E3A feln 39 &
2 7133 Aol e A QAE m e 29 X AN &
gk adA A 28 xolE 208, I & AAE Xolth

a) 28l - o shAF

b) 2 - LA

¢) 21 - opstAF

d) 28 - 2AAsAG

22t olle] AL UA o Frdd JAE @ 2 AdA ATEFH
oA 99 <, 2¥ ¥ A & A= olopy] ¥ e AXHE 97
A 24-E g} o] BE Zo| Aojo] 2fs] o] FejAct. o]FA Aeldd ¥
Ty g A

a) 23 - o]si} b) 2}8te] — o] s}

¢) 2J3fe] — o]¥d d) <J8 - o]#stAe]

g o & AL Hod $9 &9 ¥FFE wAFE Al H7 W7t
A A gt FEY o & AS wol Hx i el [ HE H
A Fahe AL w7k 24 geds FY &9 WPl wold 7] 9
£ Zolg

a) HevE - ol

b) Hev: - op i

o) M - st

& ¥avE - ot

Gpol} Fug 4o Aska Ustd PAlE Po] PEaAY ol &
o] o] WEs) SAALE A4, W) stelo] ZrshEA Wo) HAA
o} WEAe) GolhE Hek slEy FAHE oln ¢ B& ExFs 4 XX
28 A= AAANA A2t A5 Sehe s shalg b A Bu o)) o]
A 9B U= AF 2E oplckr deklA B HAE ST AR
ARg He EUT Loluh

a) Askeba] - 9340

b) A8eA - A%

o AshebA] - 923k

d) AgeA- 93150
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56. S o] AZA Y Al vjAe ol E ol Aojzg AFS T
o o4 nA4ge] Eus sha gy Y2EE Ade] 28 A 2E Hrh
744 vlo] Fi= Apo]=i g o|x|gk 2 §] € 7, 3 19 7.5 7} AFL 85
72 91, 9 7} 3 17 Hek ol FElel 32 <& o] Alde] FEF A2
AzxQANAN 7%, & 5 A7} 29 ool zigs] dErelze “Ax
7R o Soj7iAu B AR} Ak ookt Alel=e AEARE
o7k v w@ild
a) 7H| 8 o} - 93|t
b) Tulske] o} - wagct
¢) THlghe] o} - us|gich
d) 7u]8ke] ol - w33}



Section III - Reading Comprehension

Direction: Read the following selections carefully for comprehension. Each selection is
followed by one or more questions or incomplete statements based on its content. Select the
answer or completion that is best according to the passage and fill in the corresponding
oval on the answer sheet.

Questions 57-59.

AES ¥ o 7M o8 22 oud gL sft sh AW +Al
FE A Alo] gofshe 42 sjsfof fhich uiZh delshedl do] Fold
g 7] dEivek 29k A Aol A% neix dn F=22 A7)
Fobohs E24& Qo= ¢ Fyck w5 @ 245 A3k Aol FH4Y-
AL dt=A] o AR 2sA Lol Ft.

AES ¥ AR = AR 24 9 Agle] Y&k 4 Al
A % Bajoiof itk AES & Al dellA E01F die 2 A=A
a9 QAR slejof sha, el Fold die AE sy ZHdd =S
gteA] Bujof ghct e Age] vlgel ¢t Solx TYThe AAE Siok Bk
4 ohe} 7|8 2L Ax AL dojMe I

A AES Hod ¥ PR FolAE DA S Aol dei= Hej
AeYch 28y A AREL T F € AR 2elA Qojrn agives
QlAlet LS BuiAl Heo gigych & FEloA o2 Alge] A2 A2 &
Agole AES &2d 2ot ¥t o8 AR delld gt ghefel
Ago] FY A9E FrEYES W TR St F42 LRSHA
&t Al Wiy |

57. Each of the following subjects are included in the passage except:
a) gift-gibing etiquette
b) gift-receiving etiquette
¢) cultural differences in gift-giving
d) cultural differences in receiving gifts




58. What recommendation is made to gift buyers?
a) don’t limit yourself to a gift that fits your tastes
b) always wrap gifts in expensive paper
¢) never give cash
d) gift cards are a good gift when you’re not sure what the recipient wants

59. According to the passage, what is one difference between Asian and Western cultures?
a) Asians open gifts in front of the giver
b) Westerners open gifts in front of the giver
¢) Asian never give cash
d) Westerners always use gift wrap

Questions 60-62.

& Alo] o7k Qo] & AErolehe Ho] ok A 37 F<t Bl E%
uhge) M2 E 7jRe] FoiFE ofojct. o] FEsd 2%, ), A, A% S
HA 45 28 UL AN, AFEH 7199 s, ¥ 2= FE
desr|= et

gAlollN FAsHe BT £ AL 8 8 A2, 2y o) FTAA £
AR $HFgo] Bz e Ae ohn Alglvid AR 9 AL 2o
o) ol A 31X e AR ool 31 W FEA 4 AEE A Ao
7P A 4 AZkelEaL e

£9g Fsled AR S Ak Pk +4 /A Ak LA
A 2] 74 F28ch A7 Al Ade] 74 e 2AY ool Lot
o2 Adell 28 74 e AL FA 4o A, D, € § AS4°) U=
AL wsfo gk AL olF =43¢ 377 2 FIAES ot Wi
FAA oz $5& shu A Al 7PEA AHE S Aol FoA A
g A b 23] €

60. According to the passage, what is one nickname for sleep?

a) ‘body regulator’ b) ‘body recharger’
¢) unconditional gift from God’ d) *8 hour power’
224
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61. According to the passage, what is one indication that you are getting enough sleep?
a) you are not sleepy in the afternoon
b) you get up easily in the morning
¢) you are energetic all day
d) you lead a more active life

62. According to the passage, each of the following is part of a regulated sleep schedule
except:
a) regular wake-up time
b) avoid reading in bed before sleeping
¢) avoid laying in bed for long periods before getting up
d) regular bed time

Questions 63-64.

v A S8ska ik A dol A do] ol F3A Wkt
e g F £89 ¢ AEA] B¢ F selolz AEAHE 2 2l dsiAt
A7y gt

= AdolA] Zde)r)) 8Eck & £U TS LAARA Byt
gk A, 87, A4, FTA ARE ¥ Bast ok v A Akl
ujstrlel A sk 4427 E E7)0 WA oo} dighE Y 2AKE
S48 AAE € Aot

63. What is the author supposed to be doing?
a) planning his wedding
b) preparing for a business trip
¢) working at his computer
d) paying bills and doing housework

64. The author is looking forward to each of the following except:
a) swimming in the ocean b) waterskiing
¢) snorkeling d) eating at nice restaurants




Questions 65-67.

N3l 5L g BALE ZHE Alsshe Ao g vhelidch USA Today 2 CNN,
a8y g 24} 7|9l o] FFoR v Aol ¥ 1 A 13 FE R
AN A2 Azl waw AdAe] 8%t wAE Mg e 4 Sle
Ao g ®okl

Z4719 A 5%E 2 94S AA 8
thgo g A= 4 Y Ak FAR (B3%), A8H(T1%), Had 2F2 TH5(68%),
ML B}, 2jxK66%) B AAKS1%)5-2 % veRdcl

65. According to the published survey, over 1000 average Americans trust which profession
the most?
a) ministers
b) teachers
¢) police officers
d) youth sports coaches

66. What percent of people surveyed indicated trust in Certified Public Accountants(CPA’s)?
a) 51%
b) 66%
¢) 3%
d) 75%

67. Which profession did 75% of people surveyed trust?
a) military officers
b) police officers
¢) CPA’s
d) small business owners
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' | e 33 P A7 A 49 390 BAlgch $d 83 AL
r At ol 486U 2F 74 0%
! sl ofjull; 44 7€ 24 104
! A 715484

Aol A A s A9 A4
; A (714) 5554444
f" I R T —
r \ :

68. What type of announcement is in the passage above?
l' a) church service b) funeral service
| ¢) wedding ceremony d) baptism service
69. Who is Hyungook Kim?

K a) a minister b) the groom

¢) the deceased d) the son of the deceased
r
b
9
b




tions 70-71.

u)ulo] 5 ojeol: Alojaiw} $E WS Fslol By ik AR
olo|So] AR Aefol glom AAE AL o =v dgie] TFE AT
A Zzee] AAE AU

uloul=, §MA, ojolrad, A £ 7T AFH nAY AFEE Hskn
gal 718717t g 27, A, g1, ofd, ¢ A 52 Helok #vsh
sxe Ao %o Gola] B A Po] HEF Fck WA2Ex 04,
sho], ojelrag e H3l= A F5U

S$EL Folsli= Aoz AFale] 350 o} 3 Aol 15¥ AER
AAE 3040 ¥ AEE Fo{7h= Zlo] Frhx itk

70. What is the author’s opinion about raising healthy children?
a) feed them a balanced diet and encourage regular exercise
b) eat healthy most of the time, but it’s all right to eat sweets on special occasions
¢) train them in a strict daily exercise program
d) don’t worry-children are naturally active and can eat anything

71. Each of the following are recommendations the author makes except:
a) avoid sweets
b) serve food in small bowls
c) chew food slowly
d) exercise 30-40 minutes a day
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Questions 72-74.

£ RE $A% 74ed B o) 7H B, 2 LolA U
/% WA A gk 23 ¢ $2 2oz Honl A8 23} 94 9w
Boba] Homl AL 60%, ok =owd 70%stel 2371 P4 gt
2oy} o)2e FH2 vkl Hom %7} 4307} Aok ek
A2 o] 597} FAHo 2 A B Yo ok vjFeetE F¥EAe]

14 5008 Qo glew, iz s gk LelolA} weln Yow, T 2e)
e Yot 2= wrE Alejrl 5 Yok g

72. People absorb the most proteins when beans are prepared in which manner?
a) raw
b) fried
¢) boiled
d) tofu

73. What is the nickname of beans?
a) “meat that grows in the field’
b) ‘meat that grows in the mountain’
¢) ‘meat that grows in the garden’
d) ‘meat that grows in the pond’

74. According to the passage, what kind of cookbook was a bestseller?
a) healthy dishes with beans
b) vegetarian cooking
¢) vooking with tofu
d) asian cooking




75-76.

A 257 FHe) Age] We HEgd dalat £ue) Aeke] dase
2] A Fols ZReE Al et sl wage] g A&E Adelct
A7) A 957 S7kol 25 446 e AAAE shAds] HESkL Y
Aepe] Al AAA Qs Fojel, zof, 22w ool= Ak 5 HLL

ARES AdE FIREE % o

75. What legacy did Mother Theresa leave even after her death?
a) ‘Missionaries of Love’ b) ‘Church of Love’
¢) ‘Mission Church’ d) ‘Love of Poor’

76. The organization takes care of which of the following types of people?
a) handicapped people and AIDS patients
b) poor people and prisoners
¢) orphans and widows
d) AIDS patients and prisoners

ti -7

ol &Aool Axe] oj@ o]z} glelR. o] ofol: vl B3, I
o] JESE o]%9] oS SANEHE o5+ U] e FAE
9JAQl paE 23 42F 2w gluET|d, «olo] FAH" 8 FE Awe
Yol 28 o] ojele L& 7pAE Wew, Yoo sy o 2 Age] 2=
Egbe 348 A 47lels.

77. What is the main subject of this passage?
a) an alien from a cartoon
b) Halloween masks
¢) my 5-year old neighbor
d) cartoon characters
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78. What is the attitude of the child in the passage?
a) conniving deception
b) innocent playfulness
¢) timed fear
d) playful disobedience

Questions 79-80.

X7 A3 A9AL gEdd A8 WAgel A5 vitel 7H4 9
717 2 ZAuck. $90lu E501F sl $5202 Bl Al A1)
Rayt o] wels S WA AE ge AAde] AFEEFE Adz
ANEoRL, AR iFold A AFE 49E A4 4 Aedd 2FER
AHEEL ATEFE AR e 2 gobrolol itk

ATEFE AAE dolls 1A 3] 49 o]82L AAsky, olojA & F=
A3 A8 g8 WA Pk 2 ol €2 20l 80l vHl H, ¥4
ZE AL &8 FolEevst 22n 849 JeE w8 A 52 JAEF
Fr=siof ik

79. What does the author warn against in hot weather?
a) sunburn
b) slipping in the water
¢) drowning
d) dehydration

80. What does the author give instructions about?
a) administering CPR
b) first aid on the beach
¢) how to keep hydrated
d) treating a sunbum
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